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[1]0=sf0<2r Dl &, ROFEX, FEXEMT, [2] 0=x<2r DL &, ROGEAEMT, [3] 0=x<2zr DL &, ROGEALMT.
(1) 2sin%6 —3cosf =0 (2) 2cos?6 —3sinf —3=0 (1) cos2x =cosx (2) sin2x=cosx (3) 2cos2x +4cosx—1=0 (1) sinx++/3cosx=—1 (2) 2(sinx —cosx)=+/6
(3) 2sin®@ +cosf —2=0 4) (2sin@ ++/3)sinf =0 (4) sinx(l+cos2x)+sin2x(1+cosx)=0 (6) cos2x=sinx () +/3sin2x —cos2x = —+/2 (4) sinx—cosx=1
(5) (sin@ +1)(2sinf —1)=0 (6) 2cos?6 —5cosf —3=0 (6) cos2x=cosx (7) sin2x=cosx (8) sin2x=+/2sinx (5) 2sinzx+cost)=E ® sinx—}—cosx:\lf
(7) 2sin®0 —3cosd =0 8 3tan?0 —2tand —v/3 =0 (9) cos2x =3cosx —2 2
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